COPYRIGHT: Reuse or reproduction of the contents of this document is not permitted without written permission of Structural Integrity Consulting Engineers Inc.

SEE PLAN

SEE ARCH FOR WATERPROOF
MEMBRANE, FINISHES, SOFIT
ETC. -TYP

k3

-—\/

o |V
I\

31/2" WIDE x 4" TALL RIPPED
PSL @ 12" CANOPY FRAMING

SECTION (RRN 3/4"=1"'-0

FASTEN FLOOR SHEATHING TO TOP
PLATE W/ (2) 8d @ 6" O.C. -TYP ALL
BRACE LOCATIONS

(2) LSL PLATE RIPPED TO BEAM
WIDTH + 1/4" FASTENED TO BEAM
W/ (2) 0.157" @ HILTI X-U PINS @ 12"
O.C. “TYP ALL BRACE LOCATIONS

V' 2x8 RIM -TYP

11GA CLIP EACH SIDE OF PSL FASTENED TO
WF W/ (3) 0.157" @ X-U PINS W/ WASHER EACH
CLIP. BLOCK BETWEEN CLIPS ABOVE PSL -TYP

TYP PL 1/4" FITTED STIFFENERS
1/4 BOTH SIDES
.

<’_/ o |

ol |

”/ — o ;

ol |

WEF, SEE PLAN ol

:: = |

T 7 |

. 4 N .

] 6 1/2" MIN -TYP 7 ]

} } (4) SIDES 1/4 /7 7" MIN 0 3 3

| \7, HSS, SEE PLAN o4 .

#4 J-BARS @ TIES -TYP o ’ ¢ \ ]

o PL 1/2" GUSSET PLATE N L

| | 4 P } }

] \\ \ e

] HSS 6x6x3/8" GALV BRACE N\ ]

] PL 1/2" GUSSET PLATE N \ ]

1 | N N | |

o (8) 3/4" @ HEADED ANCHOR RODS F1554 e

o GR55 W/ 12" MIN EMBEDMENT oo\ | !

] (4) #4 TIES @ TOP + BOT @ 3" “TYP ) |

| | ey |
SEE PLAN j— L1 Il #4 TIES @ 8" MAX -TYP II N I Il | N -
=l --1== o= ===\
ol IO I | (16) #7 VERTS W/ 10 1/2" HOOK @ TOP OF . .
JEZZIECCICCT PILASTER -TYP . :

GRADE, SEE PLAN

2'-0" x 2'-0" PILASTER W/ CHAMFERED
EDGES -TYP @ BRACE FRAME LOCATIONS,
SEE PLAN

FOOTING, SEE PLAN

12" WIDE GRADE BEAM, SEE PLAN

SEE PLAN

30" LAP

WELDED GUARDRAIL FRAME SHOP
WELDED TO HSS FRAME PRIOR TO GALV,

1/2"x12" LONGx7"TALL TANG W/ (2)

13/16"® HOLES AS SHOWN FOR (16)

5/16"@x4" RSS SCREW INTO RIM & 6"
SOLID BLOCKING

SEE ARCH o
1/2"x6"WIDEx12"TALL PLATE W/ (16) N s
3/8"® HOLES AS SHOWN FOR (16) =R y
L2x2x1/4" DECK JOISTS @ 12" -TYP. — T 5/16"Ox4" RSS SCREW INTO RIM & . .
P.T. TOP PLATE ANCHORED PER ARCH FOR \\ N N SOLID BLOCKING e ol
DECKING FASTENING. N 81/2"
COATING PER ARCH, SEE SECTION ™ \ . DBL 11/2"x71/4" LSL BLOCKING W/ (3) ROWS 10d x 3" NAILS
FOR ADDITIONAL INFORMATION \ \ NN BLOCKING MIN OF 10-0" @ 8" O.C. FULL LENGTH.
N\ \ —= OR 24" PAST 3RD
11/2"@ VENT HOLES AND BLENDED \ \ —— | SHEATHING PANELS, |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, e — — + T— WHERE RUN PERPENDICULAR,
CAP AT BOT AS NEEDED. VERIFY ﬁ 3 ol T A SEGMENT BLOCKING AND TIE
LOCATION W/ ARCH || = o TOGETHER WITH CS$14 STRAPS TO
JOIST TO HSS >W9’/ 7777777777777777777777777777777777777777777 o/ A ‘ DEVELOP RATED LOAD.

KICKER TO FRAME a7

FIELD FASTEN TANG TO HSS FRAME AT
CORNER W/ (2) 3/4"@ HOLLO-BOLT

TANG TO PLATE

14"

"NSTRAP TO PLATE
N\ gp

COORDINATE WEBS TO BRACKET
STRAP.

TRUSS BEYOND

S 3" WIDE x 1/4" THICK x 24" LONG A36
PLATE STRAP FASTENED TO DBL LSL

BLOCKING W/ (22) 0.192"@x3" NAILS

HSS3X3X 3/8" KICKER MITERED

AND WELDED TO BOTTOM OF x \

8X4 FRAME -TYP

1/4" END CAP PLATE W/ (2) 1/4"
WELDED TABS TO ALIGN W/ MALE
WALL MOUNTED PLATE BRACKET.

(2) 3/4"@ GALV. A325 GRADE MIN O

THRU BOLTS. VERIFY
APPEARANCE W/ ARCH.

TANG TO PLATE 3/8" S

OUTSIDE THE BUILDING ENVELOPE TO BE TO
BE HIGHEST QUALITY AESS GRADE W/ COLOR
HDG. ALL WELDS GROUND SMOOTH, POLISHED
& FILLED. ALL MILL MARKS AND
IMPERFECTIONS OTHERWISE REMOVED.

N
ALL STEEL FRAMING AND TABS @ BALCONIES §{

s

SECTION @254 3/4"=1-0
N—r

-TYP

IN TWO ROWS W/ 1" MIN SPACING.

(4) 5/8" @ GALV THROUGH BOLTS
2x BLOCKING

MSTA48 @ (2) TRUSSES ADJACENT
TO RIM TUBE

PSL COLUMN, SEE PLAN

L8x4 x 7/16" CLIP EACH SIDE W/
(4) 5/8" @ THROUGH BOLTS

(4) 5/8" @ THROUGH BOLTS

1/2"x12" TALL x 6" WIDE END

PLATE
7/8"x8 1/2" TALL PLATE TANG

(2) 3/8"x 3" WIDE PLATE TANGS,
EACH SIDE OF PLATE

1/4" © S.S. STITCH TIE @ 18"
MAX -TYP

WIDE FLANGE, SEE PLAN

22" DEEP P.E. FLOOR TRUSSES @ 16",
SEE PLAN -TYP

P.E. GIRDER TRUSS -TYP CANOPY
BEARING

2x4 VERT @ 12" FASTENED TO GIRDER
TRUSS W/ (4) 16d -TYP

3/16 |/ 2"-8"

SEE ARCH FOR WATERPROOF
MEMBRANE, FINISHES, SOFIT
ETC. -TYP

o
1

L

31/2" WIDE x 4" TALL RIPPED
PSL @ 12" CANOPY FRAMING

-TYP

3/16 |\ 2"-8"

SECTION @ 3/4"=1"-0
N—"

10 1/2"
8"

] || / BRICK VENEER -TYP
. SOLID MASONRY INFILL -TYP
‘I/ sl /

STD GALV DUR-O-WALL LADDER
REINFORCING @ 16" -TYP

"/\ CONCRETE STEM, SEE PLAN

AVY

3/4"=1'0

DETAIL @ 3/4"=1"-0

N

TYPICAL DETAIL @ BRICK VENEER PILASTER

\—/ 2x8 RIM -TYP

LSTA24 STRAP -TYP
2x6 KICKERS @ 8'-0" MAX

1/2" @ THROUGH BOLT

PL3/16"x 3" SQ TABW/ 9/16" @ HOLE

11GA CLIP EACH SIDE OF PSL FASTENED TO
WFE W/ (2) 0.157" @ X-U PINS W/ WASHER EACH
CLIP. BLOCK BETWEEN CLIPS ABOVE PSL -TYP

(3) #12 SCREWS EACH SIDE -TYP

MC W/ 8" MIN BEARING @ ENDS, SEE
PLAN -TYP

L6x4x 3/8" LLV

W18x60 GROUT SOLOID

PLATE

2)5/8" @ W.A. IN 11/16"

POCKET IN CMU WALL FOR

PL 3/8" FITTED STIFFENER

PL 1/2" x 6"x 14" BEARING

0 HOLES

(3) GROUTED CELLS BELOW
BEAM BEARING SOLID TO FND

\\\\\\H | ”HU/
N\ € OF //////
R

e S o
T SIONAL B oe
”//munm\\\\io\xe‘“

J

(=4

p- 207-774-4614
f. 866-793-7835

www.structuralinteg.com

77 Oak Street
Portland, ME, 04101

BUILD WITH CONFIDENCE

© 2016 Structural Integrity Consulting Engineers, Inc.

I_m
~
o
g&g
Q
=1
N
@)
hr
=
)
L
O
4
T
&)
-
()]
W
(04
>-
(04
= )
a0 =
S -6
w V=
-k
\<Q=
< = ©
ocl'lbz—
UJQu.ll-l""_'
S SN O
%H%@D.
]
2
L
> EO
Z ';l-
S B
52 Fwn
]
" .
F <o
39 o
58 b
28 B oem

S-2.4

PROJECT NO.

16-0022

\.



AutoCAD SHX Text
November 18, 2016


